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#include<stdio.h>
void main()
{ int i=999;
while (1>100)
{
printf("%d,",1);
1-=2;
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#include<stdio.h>
void main()
{ inta,b,c;

printf("Enter 2 numbers :");
scanf("%d%d", &a, &b);
if (a>b)
{ c=a;
a=b;
b=c;
}
if (%2 !=0)
a--;
while (b>a+2)
{ at=2;
printf("%d ",a);
b
b
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#include<stdio.h>
void main()
{ . .
int 1,n;
double sum=0, avg, mark;

printf("enter n of students:");

scanf("%d", &n);

for (i=1; 1<=n; i++)

{
printf("enter a mark :");
scanf("%If", &mark);
sum-+=mark;

h

avg=sum/n;

printf("\naverage=%>5.21f", avg);

}
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#include<stdio.h>
void main()
{
int max=-32767, min=32767, a, 1;
for (1=1; 1<=100; 1++)
{

printf("enter a number :");
scanf("%d", &a);
1f(a<min)
min=a;
if(a>max)
max=a;
b

printf("max is:%d \n min is:%d ", max, min);

}
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#include<stdio.h>
void main()
{
int 1, a, b, bmm, kmm;
printf("enter 2 numbers:");
scanf("%d%d", &a, &b);
for (i=a;i>=1;i--)
1f(a%i1==0 && b%i==0)
{ bmm=i;
break;
}
kmm=a*b/bmm;
printf("bmm=%d, kmm=%d" ,bmm, kmm);,
}
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#include<stdio.h>
void main()
{ . . .
mnti, J;
for (1=1; 1<=10; 1++)
{
printf("\n");



for(j=1; j<=10; j++)
printf("%3d ", 1*));

j
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#include<stdio.h>
void main()
{
Int 1, n;
double alamat=1, sum=0;
printf("enter a number:");
scanf("%d", &n);
for (=1 ;i<=n-1; 1++)
{
sum-+=alamat/i;
alamat=-alamat;
}
printf("sum=%.2{", sum);

}
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#include<stdio.h>
void main()
{ int 1=2;
double hasel=1;
while (1<=100)
{
hasel*=(1.0*1)/(i-1);
1+=2;
}
printf("hasel=%6.2f", hasel);

}
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#include<stdio.h>
void main()
{ int 1=0;

double x;

printf("enter a number:");

scanf("%lf", &x);

for(i=0; 1<=x; 1++)

printf("[%g]=%d", x, i-1);
}
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#include<stdio.h>
#include<math.h>
void main()
{
int a, k, 1;
printf("enter a number:");
scanf("%d",&a);
k=0;
for (1i=2; i<=sqrt(a); i++)
1f(a%i1==0)
{

printf("%d avval nist", a);
k=1;
break;



if (k==0)

printf("%d avval ast", a);
else

printf("%d avval nist", a);
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#include<stdio.h>
void main()

{
int a, b, 1;
for (1i=10; 1<=99; 1++)
{
a=1/10;
b=1%10;
if(i%(a+b)==0)
printf("%?2d,", 1);
h
}
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#include<stdio.h>

void main()

{ . .
int 1, n;
double x, hasel=1;
printf("enter a double number:");
scanf("%lf", &x);
printf("enter an integer number:");
scanf("%d",&n);



for (i=1;1<=n;i++)
hasel*=x;

printf("%.2"%d=%.2f", x, n, hasel);

}

S ul} ‘) uﬁsl Lgl.e,‘.olc 9 :).;\g ‘) LR &S KVWEPLY dl MU).: wxx —YY

#include<stdio.h>
void main()
{
int x, 1=2;
printf("enter a number:");
scanf("%d",&x);
do
{
1f(x%1==0)
{ printf("%d ", i);
while(x%i1==0)
X/=1;
)
i-H—;
J
while(x>1);
}
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#include<stdio.h>
void main()
{ int 1,];

for(i=1; i<=13; 1++)
{ for(j=1; j<=i; j++)
printf("*");
printf("\n");
b
for(i=1;1<=12;i++)
{ for(j=12; j>=i; j--)
printf("*");
printf("\n");
b
b
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XXX XXX XAXXFXEXXXXEXXXXXXXXX
XEXXXXXXXFXXXEXXRXXXXXXXX
XX XEXXXXEXEXXXXXXXXXXXX
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#include<stdio.h>
void main()
{ inta, b, c=25;

for(a=1; a<=25; at++)
{ for(b=1; b<=25; b++)
{ if((b<c-a) && (b>=a))
printf("*");

else
printf(" ");
b
printf("\n");

}
b
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c b<c-a b>=a
1<25-1 1>=1
25 2<25-1 2>=1

3<25-1 3>=1

. -
1<25-2 1>=2
2<25-2 2>=2
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X +eX=5

Fx)=x+¢e*-5 =0
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#include<stdio.h>
#include<math.h>
void main()
{ double xp, xn, xm;
xn=0;
Xp=3;
do
{
Xm=(xp+xn)/2;
if(xm+ exp(xm) -5>0)
Xp=xm,;
else
XN=Xm;
}
while((xp-xn)>1E-5);

}

printf("answer 1s : %.5f", xm);
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#include<stdio.h>
void main()
{ int 1, n=0, num[100], x;
printf("enter 100 numbers:");
for(i=0; 1<100; i++)
scanf("%d",&num[i]);
printf("enter a number:");
scanf("%d",&x);
for(1=0; 1<100; 1++)
if(x==num[i])
n++;
printf("\ntedad=%d",n);
b
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#include<stdio.h>

void main()

{ int 1, j, num[10], tmpnum ;
printf("enter 10 numbers:");
for(i=0; 1<10; i++)

scanf("%d",&num[i]);
for(j=0; j<9; j++)
for(1=0; i<10-j; 1++)
if(num[i]>num[i+1])
{ tmpnum=num[i];
num[i]=num[i+1];
num[i+1]=tmpnum;
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printf("\n adad moratab shode be tartibe soudi\n");
for(1=0; i<10; 1++)
printf("%d ",num[i]);
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#include<stdio.h>
void main()
{ 1nt q[1000], 1, j, z=0, n;
for(i=1; i<1000; i++)
{ n=0;
for(j=1;j<=i;j++)
1f(1%j==0)
n++;
if(n==2)
{ alz)=i;
Zt+;
}

h
for(i=0;i<z;i++)
printf("%3d ",q[i]);
}
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#include<stdio.h>
void main()
{ int 1;
double x[100], max, min, avg, v=0, sum=0);
max=-32767,;
min=32767;
printf("enter 100 numbers:");
for(1=0; 1<100; 1++)
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£ scanf("%lf",&x[i]);

if(max<x[i])
max=x][1];
if(min>x[i])
min=x[1];
sum+=x[1];
b
avg=sum/100;
for(1=0;1<100;1++)
v+=((x[1]-avg)*(x[1]-avg))/100;
printf("\n max=%.2f, min=%.2{", max, min);
printf("\n average=%.2f, variance=%.2f", avg ,v);
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#include<stdio.h>
void main()

{

int 1, npos=0, nneg=0;

double x, neg[100], pos[100];
printf("\n Enter 100 numbers:");
for(i=0; 1i<100; i++)

{ scanf("%lf", &x);

1f(x>=0)

{  pos[npos]=x;
npos+;

b

else

{  neglnnegl=x;
nneg+-+;

b

}

printf("\nThere are the positive numbers:");
for(i=0; 1<npos; 1++)

printf("\n%g", pos[i]);
printf("\nThere are the negative numbers:");
for(i=0; i<nneg; i++)

printf("\n%g", neg[i]);
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#include<stdio.h>
void main()
{
int 1, j, x1, x2, x3, det, m[3][3];
for(1=0; 1<3; 1++)
for(j=0; j<3; j*++)
scanf("%d", &m[i][j]);
det = (m[O0][0] * (m[1][1] * m[2][2] - m[1][2] * m[2][1]))-
(m[O][1] * m[1][0] m[2][2] - m[1][2] * m[2][0]))+
(m[0][2] * (m[1][0] * m[2][1] - m[2][0] * m[1][1]));
printf("determinan=%15.2d", det);
b
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#include<stdio.h>
void main()
{ int 1, j, n;
double sum=0, haga=1, m[20][20];
scanf("%d", &n);
for(i=0; 1<n; 1++)
for(j=0; j<n; j++)
{ scanf("%lIf",&m[i][j]);
sum+=m[i][j];
}

for(i=0; i<n; i++)
haqga*= m[i][1];

printf("majmooe hame=%g, haselezarbe anasere qotre asli=%g",
sum, haqa);
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#include<stdio.h>

void main()

{ int 1, j, n=0, x[100], y[100];
printf("enter numbers of first list:");
for(i=0;1<100;1++)

scanf("%d", &x[1]);
printf("enter numbers of second list:");
for(i=0;1<100;1++)

scanf("%d", &y[i]);

for(i=0; i<100; i++)
for(j=0; j<100; j++)
if(x[i] == y[j])
n++;
printf("\n eshterak=% d", n);
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#include<stdio.h>

void main()

{ int1,j, kh[10][10];
for(i=1; i<=10; 1++)

{ kh[i][1]=1;
kh[i][i]=1;
for(j=1;j<=1-2;j++)

kh[i][j+1]=kh[i-1][j]+kh[i-1][j+1];

}

for(i=1; 1<=10; 1++)

{ printf("\n");
for(j=1; j<=i; j*+)

printf("%5d", kh[i][j]);

}
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#include<stdio.h>
void main()
{ char s[50], 1;
scanf("%s", s);
for(i=0; s[1]!=NULL; i++) /¥ iy A i Jlid v g™/

for( ; 1>0; --1) /¥ S dn g pigins i lS anly S Klos 4%/
printf("%c", s[i]);
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#include <stdio.h>
void main()
{
char s[60], t[60];
int 1, flag=0;
printf("\n enter s, t :");
scanf("%s %s", s, t);
for(i=0; s[i]!=NULL && t[1]!=NULL; i++)
if(s[i]!=t[i])
break;
if(s[1]>t[1])
printf(" s moqaddam ast ");
else
if(s[i]<t[i])
printf(" t moqaddam ast ");
else
printf(" s , t yeksan hastand ");
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#include <stdio.h>
void main()
{
char s1[60], s2[60];
int 1, j=0;
printf("\nEnter a string\n");
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}

scanf("%s", s1);
gets(sl);
for(i=0; s1[i]!=NULL; i++)
if(s1[i]!='a' && sl[i]!="e' && sl[i]!="v' && s1[i]!="y'
&& sl[i]!="0' && s1[i]!="1")
(sl

it
}

s2[j]=NULL;
printf("\n %s", s2);
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#include <stdio.h>
void main()

{ char snum[30];
int 1, j, digit;
long int hasel=0;
printf("\nEneter a Hexadecimal number:");
scanf("%s", snum);
for(i=0; snum[1]!=NULL; 1++)
{ if(snum[i]>='a' && snum|[i]<='z') /* if char is a small letter */
snum[i] -=("a'-'A"); /* convert char to uppercase */
if(snum[i]>='0' && snum|[i]<='9") /* convert ascii code to value */
digit=snum([i]-'0";
else
digit=snum[i]-'A"+10;
hasel *= 16; /* converting from hex to decimal */
hasel += digit;
b
printf("\n%d", hasel);
}
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#include <stdio.h>
void main()

{
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double a[10][10], b[10][10], c[10][10],t; /* axb---—> ¢ */
int1i,j, k, m, n, p;
/aismxn,bisnxp,cwillbemxp */
printf("\n Enter dimensions: m, n, p:");
scanf("%d %d %d", &m, &n, &p);
printf("\n Enter elements of matrix a: ");
for(i=0; i<m; 1++)
for(G=0; j<n; j++)
{ scanf("%lf", &t);
\ afi][jI=t;

printf("\n Now enter elements of matrix b: ");
for(i=0; i<n; 1++)

for(j=0; j<p; j++)

{ scanf("%lIf", &t);

} blil[j1=t;
/* calculatinga xb atc ... */
for(i=0; i<m; 1++)

for(G=0; j<p; j*+)

{ clll=0;

for(k=0; k<n; k++)
\ c[i][j] +=a[i][k] * b[k][];

/* printing c... */
printf("\n a x b=\n");
for(i=0; i<m; i++)
¢ printf("n");
for(j=0; j<p; j*++)
printf(" %8.3f", c[1][j]);
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#include <stdio.h>

#include <string.h>

void main()

{ char names[200][50], shortest[40], stmp[40];
int n, 1, j, minlength=40;



YA

for(n=0; ; n++)

{ printf("\nEnter next name:");
scanf("%s", &names[n]);
if(strcmp(names[n], "finish"))

break;
if(strlen(names[n])<minlength)
{ strepy(shortest, names[n]);
minlength=strlen(names[n]);
b

b

printf("\nThe shortest name is %s ", shortest);

for(j=0; j<n; j++) /* Bubble sort */
for(i=1; i<n; 1++)

if(strcmp(names|[i], names[i-1])>0)

{ strepy(stmp, names|[i]);
strcpy(names|[i], names[i-1]);
strecpy(names[i-1], stmp);

b

printf("\n Sorted names are below: ");

for(i=0; 1<n; 1++)
printf("\n%s", names[i]);
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#include<stdio.h>

void main()

{ int n=3;
double x,t, s, abst;
printf("enter a number:");

scanf("%lIf", &x);

S=X;
=x;
do
{ t*==x*x/(n*(n-1));
st+=t;
n+=2;
if (t<0)
abst=-t;
else
abst=t;
}

while( abst > 1e-5);
printf("sin(%g=%.5f", X, s);
b
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#include<stdio.h>
void main()
{ int i, j, a[3][5], b[5][3];
for(i=0; 1<3; 1++)
for(j=0; j<5; j++)
{ scanf("%d",&a[1][j]);
\ b[j][i]=a[i][j];



for(i=0; i<5; i++)
{ printf("\n");
for(j=0; j<3; j++)
printf("%6d", b[i][j]);
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#include<stdio.h>

void main()

{ int1i, n, r, surat=1, makh=1;
double hasel;
scanf("%d%d",&n, &r);
for(i=n;i>=r+1;1--)

surat®=i;
for(i=n-r;i>=1;i--)

makh*=i;
hasel=surat/makh;
printf("hasel=%.01f",hasel);

}
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#include<stdio.h>
void main()
{ int 1=0, j, n, n2, mabna, r, x[50];
printf("enter a number and base:");
scanf("%d%d", &n, &mabna);
n2=n;
do
{ r=n% mabna;
n/=mabna;
x[1]=r;
1++;

h

while(n>= mabna);
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x[1]=n;
printf("%d in base %d =", n2, mabna);
for(j=1; j>=0; j--)
printf("%1d", x[j]);

}
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Enter A Number And Base : 521 4
521 in base 4 = 20021




